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?Keygen(r) - (VK, SK). On a random input, the key generation algorithm
produces a verification key VK and a secret key SK pair. ?Evaluate(SK, X)
- (Y, ?).The evaluation algorithm takes as input the secret key SK , a

message X and produces a pseudorandom output string Yand a proof

? . Nernfy(VK, X, Y, ?) - 0/1. The verification algorithm takes as input

the verification key VK , the message X, the output Y, and the proof ? .
It outputs 1 if and only if it verifies that Y is the output produced by the

evaluation algorithm on inputs SK and X.
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